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Result & Discussion LEEPI (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion LEEPI (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion LEEPI (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion LEEPI

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion UTOR (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Inner Core)
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Result & Discussion MAN-Y| (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion MAN-Y| (Rainband)
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Result & Discussion MAN-Y| (Rainband)
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Result & Discussion WIPHA (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Inner Core)

Each value of electric property is median value every 6 hours
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Peak Current [kA]

Result & Discussion WIPHA (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Rainband)

Each value of electric property is median value every 6 hours
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Lightning flashes[ /6h]

Result & Discussion WIPHA (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion WIPHA (Rainband)

Each value of electric property is median value every 6 hours
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Peak Current [kA/6h]

Result & Discussion HAIYAN (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Inner Core)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Rainband)

Each value of electric property is median value every 6 hours
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Result & Discussion HAIYAN (Rainband)

Each value of electric property is median value every 6 hours
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